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iii. (1Oxz+y2)(10xz -y 2) iv. - e “
[( W
[( ( 20
iii. [ (1327)+(3t+ {13 =54 4)]
iv. [(9x2— 2 +( [(9x2—4y2)—(4x2—y2)}
1 1]
V. a+— | [a+;j—[b—EL

a
1. )+(2y—%]}{(3x+%}(2y—%ﬂ

432 )((x+y)-2?) i ((20+267)+3c)((20+267) -3¢

)
iii. (4d2+(cz—d))(4d2—(cz—d)) iv. (2(x+y2)+3y3)(2(x+y2)—3y2)

<L N @

e — /
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e
i (M) )
. [\/y_ﬂ\/_][\/_ \/_] iv. [\/EJr%J

Exercise 4.2 ®
1. i (a2

i +x +ax)(a2+x2—ax) ii. (bz—b+1)(b2+b+
iii. ( at+xt+a x)(a4+x4—a2x) iv. (zz+z+1)(zz—z (24—

2. i 2(7x+1)(3x-1) ii.
iii. (y+21z
3. i (x +2y +
iii. (267 +10¢+25)(2¢ 10t+2@’5+1)(2t P-2t+1)
4. i (x=2)(x+5) ab —5)
i, (y-7)(y+14) (xyz—4)(xyz +6
5. i.  No factors @@ ii. 21z +4 z +1

/ LN @& &= /

il (2x+1)2%g5) iv. (3x+y)(x -13y)
6. 1. 9x2+4 1$9.x +4y —6xy) ii. (x2+5+3x)(x2+5—3x)

iv. (a+b)(a—-b)(4a+9b)(4a—90b)

%
! x —4x+4 x 2_4x- 21 ii. x +5x+3)(x2+5x+7)
x —2x— 3 x2—2x+10) iv. (x —8x+1)(x —8x—1)

x +9x — 2) x +9x+6) vi. (x2—5x—6)(x2—5x+16)
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iii.

ii.

iv. X+

(+*
(
(+*
i (xe
(
(
(x+

i, (b+c)

V3 (-

V2)(x-
V5 )(x-

iv. (2x+3)

.. (4
vil. | =+x
(3 j

i (d-2c)

1. 1. (x+2y)
iii. (a2+1)(a4—a2+ 1)

(x2—2xy+4y2) ii. az(a+b)(a2—ab+b2)(a6

V.

‘ &;::%,» » —
o

x—5x—5)(x—5x+15)
X% —5x— 10)(x 5x+20)

>
2
&

X% +5x— 2)(x +5x+12) ii.

B)+245)x-245)

x1)(x-1)(x+ V12 )(x—14) i («2-3)

i Yoo
x+2\/_ 2\/3 Vi. x 12)(x2—

%

WIN W(N
=

|

N w

<

~——G

viii.
( Exercise 4.5 ()

iv. (ab+ 8)(512172 —8ab+ 64)

iv. (x2—12x+30)(x2—12x+32)
vi. (x2 —7x+27)(x 2—7x—5)

~a’p® +b)

e — /

e

~

/
2

<L N @
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v. b*(a+3b)(a*=3ab+9b?)  vi. (Lg £+2—f—1
5 x A25 «x

Vii. (x3+xy223)(x —x*y?z +x2y4z6)

Lo 2 ) xt 2x 4
Vil | —+ = | ==+
3 x 9 3 &
2. i (x—2y)(x2+2xy+4y2) ii. (x +2y )(x +2x°y° +4y
22
. (10—ﬂ1100+2xy+xy j

5 25

. . ( _

x 1 16 . 4
E xz +x_8 V1. (x - x

R=-42 v. R=-11

r=1, r=-3

Exercise 4.7 ®

Y=x"+1 ii. R=-2,g(x)=x*-2x+1
—60, g(x) = x> —8x+27 iv. R=4,qg(x)=x>+8x+5
=29, g(x)=x>-3x*+7x-15 vi. R=1,g(x)=x"+2x+x+2
vii. R=29, g(x)=x*-3x° +10x> —32x+ 96
viii. R =174, g(x) = x* + 2x° + 7x* + 18x + 60
ix. R=175, q(x)=2x"+2x>+104x + 40

S
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¢

x.  R=-300, g(x)=6x>—42x>+90x 114
2. k=24 3. m=4 4. m=-24 5. m=-1
Exercise 4.8 ()
1. i (x—l)(x2 +1) i (x+1)(x+1)( x-1)
il (x—1)(x—2)(x-3) iv. (x+2)(x—=2)(x+3)
V. (x+1)2(x—1) vi. (x—=2)(x+3)(x-3)
vii. (x+1)(2x—1)(3x+2) viii. (x+1)(x+3)(x+4)
ix. (x+1)(2x=1)(x+3) X (x+1)(x+2)(x+4)
xi. (x+2)(x+3)(x+4) i (x+2)( x+4)( x+6)
Review Exercise 4
1. i. True ii. \’S/
v. False vi.
2. i 4x+?
iv. 2xy
3. i. b ii
1. i ii. 2L I=6r3%°
iii. iv. 2L 0=(2x -3)
V. vi. 2L = (x+3)(x+4)

Vo (Bx+1)(2x+3)(22° ~5x—11)(x—4)

1i.

i, XFYE=(x+3)(x+4)

iv.

) = 81a*°c8 ii.  7800p°g*"®
(x—1)(3x-2) iv. (x+4)(x+7)(x-3)
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vi. (x3 +y3)(x+y)(x4 +x2y? +y4)

~

i (x=20)(x—5)(x+4) i (Bx+2)(x+4)(2x-1)
iii. (x2 —y* -z - 2yz)(y2 —zF—x* - 2’cz) iv. 12x% (x—4)(x +7)(x -2)
5. (x—s)(x—3)(x2 —6x+ 6) 6. 242v—3
7. 9x*+15x° —12x—14x>+8 8.
9. P U6 10. 48 Cews
( Exercise 5.2 ® @
7x+3 .. 12x2 +29x+16
1. 2 ii. A
(x+1)

—4x® +x2+9x—4

N T 1 (-3)

v. 2x+6 o
i (x+3)(4x+7 %—
—x— 1) x+2
N 4” 2(x +5)
(x —9) 4x4x+2

( Exercise 5.3 ®

T T SN
X

ZZ

> 2,9(2x-3)" +2y(24+10x-15)  v. \/(x%lz]—zx(x-—lju

X X
vi. x—1+2 vii. x2—4+i2 viii. x3—2+i3
X X X
2. i 24ax+1 i, (x-1)(x-3) il (x+3)(x+5)(x+2

@ — / LN @& =— /




9

—

&
2
&

iv. (£+7—zj V. x—1+l vi. x+Z+3z ‘;
Y x x 3
vii, -4+ vifi, 2 -2+
X X

3. -7 4 —(24x"-9) 5 m=20 6. p=-56, g=—49

/

Review Exercise 5

4

1. i. True ii. False iii. False iv. False V.
2. i 2 il p(x)xg(x) iii. y
1
iv. (y+1)(y+2)(y+3) V- y+;
3. i.d ii. d iii.b iv.c V. Vi. o
vii. ¢ viii. b ix. b X. C

iv. x=40

viii. x=105

xii. x=12

y=143

viii. x=81 ix. x=80

& — / <NV & —
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( Exercise 6.2 @
[ 25 23

.. (19 .
ii. 11,? iii. {-42,42} iv. Y

~

(78 76} . [ 23 17
-, Vi, ——,—
5’5 272

} viii. {~10,6)




2. i Plaszsep Lz v

3.

»
y

-0 9 8 7 6 5 4 3 2 -1 0 1 2 3 4 5 6

Review Exercise 6

i. T ii. F
i. 2 ii.
iv. (y+1)(y+2)(y+3) V.
i. a ii. a c
V. C vi.c

Lox=-2, y=2
iv. x=4, y=0

iii. (235250 2 52 - TV p
V. @l:ﬁyﬁ&;eﬁ-l‘ ‘

5 50 2 S5 92 - 11
15 52 g0 p 56 g2 - TII
i. %,blbﬁ‘,.»/ﬁ%;&x-l

i ;




> J &= ® A J) & @




@ 4\%@%%# %@v

D
o




#,,,,
1

)

)

Jd.

® v+ /) — 0 >/ — @






)

N
D~
[P}
/)]
ored
9]
P
(9}
P
84

V% B
NN\
DN

® Y / & ©® A J & @




® - \% @ >/ = Ol

D
o
&

=4 . < 1

< _ — — —

—_ d b 1] & = c +1
[oq)]

o | e

2 o7

Il ‘ \ —

~ < b

23
1, 9)
A




3.5

(1
\

1

L

“~y

1
ax —~ s
k=) —
S n ~ o © 1;/ J; ol o
- 3 ~ ~ ~
A’ [ [< [ cn = L s ] i
1 < < ~ o s
o %Wvl
& P
b v ¥
- \
—_— y
L L L L L L
L) L) L) L) L) L)
e
o

3.5

-2

3.5

> J &= ® A J) & @

)
NN\
DN




ii.

iii.

>
2
&

Y 6 4 2 0 -2 -4 -6
( \‘ Y
29R
1L 2Rz
2R 72
‘9744 @
x(’r ).
ul_,l.wo ddowe =X /\\ ay
0 NN
2 (\y\ y
2Ny 2
BRI § ST AR
2 3
=3v | (O 2
3
O\;\; 1 S
DAY 2w - X LRE D

e

~

/
2

& — / <V & —



~

~

P S 3w e 05100
,..b > ,...ul.:)ué')&b 3‘_}4‘,4
@ .
e P
i) oS48 il Jw 1.2 iv. Jus5 e Jued9
i. 12 acres iii. 2 hectares iv. 6 hectares
ii. 35.24°F iii. 0°C iv. 244°C

i 222847 i Jbos41r v JL,1.78
(3,1} i {3,1} iv. {47} v. {11}
vii. {-3,2) wviii. {1,1}  ix. {84} x {51}
Review Exercise 7
ii. F iii. F iv. F
iii. a iv. b V. ¢ i
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( Exercise 8.1 ®

iii. {6,5)  iv. {2, o}
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( Exercise 8.3 ()

{43, 4} i {£2,4i}

iii. i iﬁ iv. —E,—Z}
3 4

~

{i 6+2Jﬁ 3}

vii.
ix. {1+i,1 —i}

eoe = ¢
i, +bx+c=0 . &0 gl S

_b+ /b2 — 4ac




Review Exercise 9
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( Exercise 12.1 ®
A

2.
70° 45°
B C

235 p 35 sb AC

ualj..\... A SRS ,..UL,B

Review Exercise 12
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v. True
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1. i Ssesles i, s 9 S
2. i c ii. b

vi. d vii. ¢

iii. F iv. T
viii. T
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Exercise 15.1 @
1. i sk AB =3J7cm, 2! 2 8cm
i 4 o b AB =4Tom, 2Rl =14em
2. 4% > b AC =20m, ol pl=60m
3. 48 2 b AC =dom, ol =17em

Exercise 15.2 ®
1. 1. mA_B =10cm ii. x=6 iii. x=1

iv. x=2 v. {3,0} vi. {1,—4}

~

2. mAB=10cm _ 3.
4, sl ks 55 sl sl

ii. 1171 iii. 5 iv. 6

; i Exercise 16.2 ®

bl sisd sl C 8 A Bl

5. b pusins 5,8 Ce A Blaw

6. K=4,K=-2 | {4,-2}

9.8l Rl e pl s ol pu,m 58

@; ;ii. 1 i, 242 iv. 22

W
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@ — / LN @& =— /
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( Exercise 16.3 )

j i (-4,3)

P
1
©

< 8

N | =

L0 (17 . [1,

/

2. (-1,1) 3.B=(2,2) 4.(4,5)

4

Review Exercise 16

1. 1. T ii. F iii. F iv. F V.
vi. T vii. F viii. T ix. T

& — / <\ & —
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